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Q.1 A) Choose the correct alternative.
Db 2)d 3)b 4)c
B) Solve the following questions.
L. Mean (®) =22 = 222 = 1390
2. Given, t3 = 20 t4 =24

~d=t-13=24-20=4
3. The required quadratic equation is
x2—(a+B)x+aB =0
i.e.Xx2—2x—-44=0
4. Substitutingy =0 inx—y =4, we get
x-0=4
~“X=4
=~ The point of intersection is (4, 0)

Q.2 A) Complete the followmg activities. (Any two)
1. | No. | FV | Shareisat | MV _
1 310 Premlum is3¥7 ? 17
2 325 | DiscountisI9 316
3 %5 AT PAR o
4 20 | PremiumisT 10 | T 30
2. Value of
discriminant Nature of roots
50 Real and unequal
=30 Not real
0 Real and equal
- Not real
5
3. | Class Time required for experiment (minutes) | 20 —22 | 22— 24 | 2426
Class mark 21 23 25
Frequency (No. of students) 8 16 22
Co-ordinates of points (21,8) | (23,16) | (25, 22)

B) Solve the following questions. (Any four)

Marks : 40

1. Class Time Class mark xi Frequency (No. of students) | Frequency x Class
(hrs.) fi marKk fixi
0-2 1 7 7
2-4 3 18 54
4-6 5 12 60
6-8 7 10 70
8-10 9 3 27
Total - >fi=50 >fixi = 218




Mean =X = 2% = 218 _ 4 3¢
s, 50

=~ The mean of the time spent by the students for their studies is 4.36 hours.
2. Sample space,

S ={H1, H2, H3, H4, H5, H6, T1, T2, T3, T4, T5, T6}

~n(S)=12

Condition for event A : To get a head or tail and an even number.

~ A={H2, H4, H6, T2, T4, T6}

n(A) =6
3. Thegiven AP.is11,8,5, 2,....

Here,a=11,d=8-11=-3

Let the n" term of the given A.P. be —151.

Then, t, = —151

Since, th=a+ (n—1)d

~ —151=11+ (n—1)(=3)

~ —151-11=(n—-1)(-3)

o~ —162 = (n—1)(—3)

~nN=1= ﬂ

-3

~n-1=54

~n=54+1=55

: 55th term of the given A.P. is —151.
4, FV Rs. 100, MV = Rs. 120, Dividend = 15% per share

Let the rate of return be x %

. 15 _ X
120 _5100 ;
15 X100 2
X = ===12.5%
120 2

=~ The rate of return for Shriyash is 12.5 %.
5 Sol: 3x*-29x+40=0
g 3x2-24x-5x+40=0
3x(x-8)-5(x—-8)=0
x-8)(Bx-5)=0
x—8=0o0r3x-5=0
x=8or3x=5

x=8orx=

=~ The roots of the given quadratic equation are 8 and g
Q.3 A) Complete the following activities. (Any one)

|
1. - 5 1 =2;L_L=l
x-1 y-2 x-1 -

Y
Replacing ( )by m, (LJ byn

y-2
New equations
«— ——[m-3n=1
" onsolving Em3n=1]
]

Replacing m, n by their original values.

On solving

i —

Lx=-1=3,y-2=3

“x=H.y-H




Number of scores in the components
Total number of scores

Measure of central angle (6) = x360°

i.  Central angle for cricket (8) =

8]0 = Students who like cricket x 34(0°
1000

¢= 81x1000
360

= [221]

ii.  Central angle for football (6) =

63°= Students who like football x 360°
1000

Students who like cricke

Students who like football = &;‘}(‘)’L"
=

iii.  Central angle for other games '(9) =

720 = Students who like other games x 360°
1000

Students who like other games = M
60

=
B) Solve the following questions. (Any two)
Here, we take A = 2500 and g = 1000 -

Pa) P E u = —i | ,
,ﬁ:ﬁy Class mark di=xi—A ' g |  (No.of =
Aoy x| =x-2500 d. workers) i
ges X) R e e R b=t :
1000 —2000 | 1500 -1 25 -25
2000 — 3000 | 2500 — A 0 0 45 0 |
3000 —4000 | 3500 1000 1 50 50
4000 — 5000 4500 2000 2 30 60
Total - - - Tfi=150 i’;‘s‘
_ Xfu _ 8
u= ¥ _150_0.57
Mean= X = A + ug
= 2500 + 0.57 (1000)
= 2500 + 570
=3070
= The mean of the weekly wages is Rs. 3070.
Sol: The given simultaneous equations are
Ix—4y=-17 5x-2y=0
4y=3x+7 S 2y=5x
_ 3x+7 .oy =3
y= 4+ .y EX
%1 ] 5 [ 3 | Fxl o 2 2
y 1 [ 2 [ 4 | [y lols | 5
D] CLD (5.2 (3,4 Len! 0,0]@2,5 (2,55




Scale: On  both  axes
1 cm = 1 unit

The two lines intersect at point (1, 2.5).
x =1 and y = 2.5 is the solution of the simultaneous equations
3x—-4y=—-7and 5x -2y =0.
3. xX*+x-20=0
If x? + x + k = (x + a)?, then
x? +x+k = x? + 2ax + a?
Comparing the coefficients, we get
| =2aand k = a?
2
1 1 1
~a=-and k= (—) ==
2 2 4
Now, x* + x - 20 =0

xz"l—x'*' I_ —J _2050
4 4

Taking square root of both sides, we get

x+ ]_=j:2
2 2
x+ 1.2 or x+ 1.3
2 2 2 2
x= 2—1 or x:—g_l
2 2 2 2
x= E=4 or x=_£=_5
2 2

The roots of the given quadratic equation are 4 and -5.



4,  Sample space (S) = {0, 1, 2, 3, 4, 5}
n(S)=6
i. Let A be the event that the card drawn shows a natural number.
. A={1,2,3,4,5}
n(A)=35
_ n(A)
P(A) )

5
P(A) = 2
W=

ii. LetB be the event that the card drawn shows a number less than 1
. B={0) '

. n(B)=1

. _ uB)
- P®) n(S)

N =l
- PB)= <

iii. Let C be the event that the card drawn shows a whole number.
5 C={0,1,2,3,4,5)
s nC)=6
L po=29_8
n@S) 6
v PO)=1
Q.4 Solve the following questions. (Any two)
1. Let the greater number be x and smaller number be y.
According to first condition, _
x +y=97 )
Now, dividend =divisor x quotient + remainder
According to the second condition,
x=yxT+1
x=Ty+1
x=Ty=1 ...(ii)
Subtracting (ii) from (i), we get
xty =97
x=Ty =1
- <+ —

8y =96
96
y= 3 =12
Substituting y = 12 in (i), we get
x+12=97
x=97-12=85
The two numbers are 85 and 12.



2. Sol: Let the original price for the manufacturer be ¥ x.
: GST for manufacturer = 18% of x

_ 18
T e—(
100
_ 18
100
y ; 18x
Selling price for manufacturer =¥ (x + m)
=7 118x-
100
Wholesaler:
118x

i lesaler = ¥
Cost price for Wholesaler 100

118
Profit for wholesaler = 25% of (—x)

100
_ 25 xll8x
100 100
_ 1 118
4 100
=7 118x
400
T 118x 118
Price of CCTV including profit = ?( 10(;‘ 403 )
GST—lS/oof?(mo 400)
18 (118): 118x)
- 18 (18
100 \ 100 400

Selling price of wholesaler = price including profit + GST

118 118x 18 \(118x 118x)
—_—] ] — + —
SIRARToP (100”400) (100](100 400

_ [113 118 )( 18 )
=|—x+—x | 1+—
100 400 100
590 118
51344.75 = T T
51344.75=1.7405 x x
_ 5134475
17405
x=%29,500
Original price of CCTV for the manufacturer is ¥ 29,500.

3. The two digit numbers that leave remainder 1 when divided by 5 are 11, 16, 21, 26, 31, ...., 96.
This sequence is an A.P. with
a=11,d=16-11=5and t, =96
now, ty=a+ (n—1)d
~96=11+(n—-1)5

~96-11=(n-1)5
~85=5n-5
~85+5=5n
~90=5n

90
“nN==—

5
~n=18

=~ There are 18 two digit numbers which leave remainder 1 when divided by 5.
Q.5 Solve the following questions. (Any one)
1. Sol: Let the usual speed of the express train be x km/ hr.
Distance covered = 440 km

time taken = 240 hours.
x



0 hours.

If the speed is increased by 8 km/hr, then the time taken = 3
x

According to the given condition,

440 _ 440 _ 30 [ 30 mins = %%hrs.]

X x+8 60
x x+8 2
1

1 1

1
x x+8 2 440
]

x+8—x _

x(x+8) 880
8 _ 1

x? +8x _-%

x?+8x= 8 x 880
x?+8x—7040=0

x%+ 88x — 80x — 7040 =0
x(x + 88) — 80(x +88)=0
(x+88)(x—-80)=0
x+88=0 or x—80=0
x=-88 orx=280

But speed cannot be negative.

x #—88 x =80
5 The usual speed of the express train is 80 km/hr.
2. LetP(C)=x
» P(B) = 2x
and P(A) = 4x

ButP(A) +P(B) +P(C) =1
WAX+H2x+x=1
~7x=1
1
S X = -
7
4

+P(C) =2 P(B)=2 P(A) =~

7



